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It makes a partition for others, etc. — %913 [T TRIY RN

OVERVIEW

X7 stated regarding a wall [which encircled a n°o»13 (to make it into a >"n9)],
which was not '7 217 that nevertheless if one throws something from a 7"777 and it
lands on top of this wall that he is 211. The reason is that if 7¥°nn qwWw 2NK? (to
make it into a *"1i7) so W"2 KXY MY (that the top of the wall is a >"77). Our MdOIN
explains why the same logic does not apply to a case of 7Ww¥? 17VRA N M.

= 122 Yy 0290 MY YUNNWNN 21D 991 919919 729W KD 19929 NODIN »1)
Regarding the bank (X°>7) above the pit it is not applicable to apply this
concept of 121 n¥onn AW 0°NRY, in order to be 21 one who is transferring
from a 2'"'719 to the top of the x>>1; the reason is -
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Since the X717 itself is not ten o°rdv high.

SUMMARY
121 XA AW D0NRY is applicable only when the wall is o°mov .

THINKING IT OVER

Why should there be this distinction whether it is " 7123 or not? Moreover the X721
and the wall of the 72 should be considered one wall (when one looks at it from
inside the M2), so it should be considered > m23?!3

! See y»on 1"7 'o1n (on the previous T1y) that the rule of % PovEA M M1 also apples to the width; that even
though the top of the X°71m is not '7 2mM, nevertheless one is 21 for transferring from a 1" to the top of the X7
since the airspace of the M2 is 77v¥N to the X711 to make it a '7 0pn (because he can place a board on top of the T2
X921 and be w»anwn on it). NOOIN is now explaining why we cannot say the reason why the top of the X771 is a >"i0
is not because of the aforementioned explanation, but rather we should apply the concept of 121 7 mn 7wW DINKY.
This X211 makes the M2 a >"71 in a case where the depth of the M2 is five o°nov and the X211 is five oonow; we
should therefore say that since the X217 makes the M2 into a >"i7, the X217 itself should certainly be a >"i7, just as
we say here regarding the wall around a n°9»72.

2 moon differentiates between the two cases; in the case of n"o13% AP, the wall is o’npv », therefore we can say
31 XM AW oInR?; however by M2 n°n, where the X917 itself is not 2'nov , the concept of n¥° AN WY O°INRY
121 does not apply. See ‘Thinking it over’.

3 See 7nm 7R and NWw NoRM.

TosfosInEnglish.com



